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'* Answer aE guestions.

¥ Write your Index Number in the space provided in the answer sheet.

% [Instructions are given on the back of the answer sheet. Follow those carefully.

% In each of the guestions 1 to 53, pick one of the alternarives from (1), (2), (3), (), (5) which is correct
or iment agpeopriate and mark your response on the emmver shoet with e cross (x) on the number
of the correct option in accordance with the insirucvions given on the back of the answer sheer.
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. Which of the following chemical elements is the most abundant in living organisms by mass?

(1} Hydrogen (2) Carhon (3) Sodium (4} Oxygea (5) Hitrogen
2. Which of the lollowing polymers is found only in planis?

(1) Glycogen (2) Chitin

(3) Ribonuclcic acid (4 Hrulin

(5) ¥eratin

3. which of the following s tmcorrpct regarding fiving celis?
(I} Al organisms are composed of cells,
{2y The basic structural omit of life is the cell.
(3) The basic functional unit of life is the cell.
(47 Al cells have a cyloskeleton.
{5) Any organisational level of matter below the level of the celi is nol considered as living.

4. Which of the following processes takes place in the inner membrane of mitochondria?
(1) Conversion of pvruvate 1o acetyl co-cnzyme A

(2} Production of NADH {3} Ethanol fermenistion
(4) Oxidgtive phosphorylation {5) Release of CO,
8. At which of the lollowing stages of ihe cefl cycle does DNA synthesis ake place?
{1) Interphase (2) Prophase {(3) Mictaphase
(4) Anaphase (5) Telophase

%. Following features were obstrved is a plant which is commonly found in moist terrestrial environments.
{a) Vascular tissue
{b} Dominant sporophyte
{c) Requirement of external water for fertilization
This plant may most likely belong w0 the phylum

(1) Bryophyta. (2) Lycophya.
(3} Cycadophyta. (4) Coniferophyls.
(3) Anthophyta.
7. Which of the following featues is wot found in class Monocotyledoneae?
(1) Perianth () Trimerous flower pans
(3) Paraliel venation in leaves (4) Tap roof system

(§) Scatered vascuier bundies in the siem

9. Which of the following features can be used to distinguish an 2nmelid from a nematode?
(1) Weil developed body cavity (2) Cuticle
(3) Hydrostatic skeleion (4y Gonads with ducts
(5) Cerebral ganglia
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Which of tac following ammal groups is poikilothermic, oviparcus #nd possesses 12 pairs of cranial necves?

(1} Chondrichtiyes {2) Osteichthyes
(3) Amphibia @ Reptilia
(5) Aves

In a molar tooth of man

{1} outer covering is composed of dentine and emamel.
(2) ihe thiclkest jayer is dentai csment,

(3 root is loager than the crovm.

(4) nerve endings extend t0 dentine.

(5) the most abundeni substance is enamel.

Which of e followiag is incorzes] reganding inseciivorous planis?

(1) They are photoautotropiiic.

(2) They are sapeophyiic.

(3) They oblain nilfogen by digesting insects.

(4) Some of them are aguatic.

(5) They often grow in soils that do nof have sufficieni amount of mitrogen.

Which of the following may uct be a reason for hypotension?

(1} Shock (%) Adgison's disemse

(3) Weakening of heart (4) Heavy haemorhage

(5) Kidney damage

Which of the following best represents the umbsr of eosizophils present in | mm® of bleod of & healthy
adult person?

(1y 25 - 180 (2) 160 - 175 (3) 60 - 600 (4) 200 - 250 (5) 20 -330

Which of the following is ineorvect regarding transport of plam: growik substances?
{1) IAA is transported through parenchyma ceils from stem apices.

(2) Cyiokinins are tramsported from root zpices through xylem.

{3 Gibberellins produced in young leaves are transported through Xylem.

(4) Abscisic acid prodnced in root cape it tansported through xylem.

{S) Ethylene produced in fruits is transporied in phlozm.

Synzpses were first developed in

(1) cnidarians. (2) Nat worms. (3) annelids. (4 echinoderms. (5) avhropods.
Which of the following cocurs due lo stimulation of parasympatbetic nervous system?

(1) TIncrease in wrinc oulpul (2) Reduction in swealing

(3) Relaxation of hair crector muscles {4) Dilation of siin snerioles

{5) Contraction of anal sphincier

Some endocrine glands of man and their locations in the body are given balow. Whick of the foliowing
combinations is comect?

(1) Hypothalamus - Anterior region of the mid-brain

(2} Pituitary ~ Immediately bzlow the corpus celiosum
(3) Thyroid ~ Mid region of trachea

(4) Thymus - Immediaecly above the hear

(51 Pasathyroic - Anterior surface of thyroid

Pons varolii of the human brain

(i) forms a Wridge between the fore-brain and hind-bealn.
(2) is located in the mid-brain,

(3) conircls reflex movements of the head.

(4} contrcls blood pressure.

(5) regulates ventilation of lmngs.

In the human eye

(1} reflex movemeats are controtled by mid-beain,

(2} clioroic lines about % of the inner surface of sclera.
(¥ ciliary body is the amerior continuation of refina.

{@) vitreous humour is found beiween the jens snd cormea.
{3} the number of rods is abowt ten tires 2s that of comes.

~
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. Yhéch of the following statemmerts regarding excreiony structvres of enimils i3 somect?

{1} Sali glands of turlles are located near the closcs.

(2} Sweal glands of man are lorated in The deep layers of the epiderwmis aleo.
(3) Green gimds of crustaceans are found ertsrior to cesophagus.

(4) Maiphigian twbules of insects opzn in e ventral mrface of the Gody,
(5) Flame celis are found in flat worms and cnidzrians.

Question Mo. 2 is besed on the following ions.
(@ Ma* ) Cr (©) HCO3 @ K (&) B

}. Which of ihe above jons are reabsorbed in the distal convolutes fubule of the bumen mepiwon?

(1} (a) and (c) only. @ (@), () and (c) ondy.
) (b) and {c) only. @) (<), (d) and (¢) oniy.
(5 (a}, (%) antd (e} only.

Which of the foliowing is a supporiing tissue in plants that dees mof contain ligala?

(1) Parenchyma {2y Colleschyma
{3} Epidermis (#) Sclerenchyma
{5} Chioreachyma

Thich of the following statements regarding the excelelsion of anisinis s pomect?
(1) Molluscs are the major group of aaimsls that possess 2n exesheleion.

(2) Sza vrchins are different from other echinodsrms as they have an exoskeleion.
{3) Bedy of some rentiles is supporied omly by the ercskefeton.

(4) Erozkeleion of aribropods comains carbohydemses, prowins zad calcinm carbonnie.
() Body of some free living nematodes are covered by am exoskeleton.

in a typical veriebra of faan

(1) two prooesses thet oviginate from the vestelial body project faderaliy fovising transverse procesess.

(2) each tramsverse process bemrs an aticular surface.

{3) two pairs of anicular processes are present in e pewral anch.

{(£) each transversc process containg & foramen for the veriebeal anzry.
(5) neural spine is bifid

In which of the following structures do the sperms of men develop the ability to fertilize an ovem?
(1) Seminal vesicle (2) Vagina (3) Urethra
(#) Vas deferens (5) Epididymis

Which of the following is an early sign of pregaancy in some womien?

{I) Constipation (Z) Decrease in the frequency of urimation
(3) Lightening of the colour of nmipples (<) Enlargement of abdomen

(5) Increase in the fimmess of bressis

The maximum life sxpectancy of a human sperm after zjaculation is
(1} 12 hours, (2) 24 hours. (3) 48 hoors, @ 72 hours. (5) %5 howms.

Which of the foflowing statemenis reganding the biman ovum is correct?
1} In 2 cross section, ii is oval in shape,

(Z) It comtains 8 minvte amount of yolk.

{3} K comtains lysosomes,

(4) s fife span is aboui 1218 hours.

(5) i bocomes hapicid s soon 88 2 sporm poDOtmSs it

Which of the following is fwecrreet regasding pasthemocarpy?

(1) Pariherocarpic fruits do nmot contain sesds.

(2) Parthienocarpy is the development of z frt from an ovary without fertilization.
(3) Parihenccarpy czn be induced by exificial methods.

(4) Parthenocarpy i the development of fruits with infertile sezds.

(5) In some species of planis parihenocarpy cccurs natusally.
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In the pea pleni, tall tait (T) is dominant and dwarf trait (1) is recessive; purple fiower colows (P) is
dominant and white flower colour (p) is recessive; round seed shape (Ry is dominant and wrinkled sesd
shape {r) is recessive. in an F, progeny preduced by mating twe F, planls heterozygous for all three genes,
what proporiicn will show the fully recessive phenotype?

1
W 4 @ g ™ 16 @ = ) 3%
Five enzymes involved in TINA replication are given below. Which of them calalyses the unwinding of Lhe
double stranded structure of DNA?
(1) Helicase (2) DNA polymerase
(3) Primase (4) Ligase
(5) DNA gyrase

Which of the following is inecrrect regarding protein synthesis?

(1) Each amino acid in a protein is determined by a particular codon.

(2) Protein synthesis is regufated by ‘stani” and ‘stop’ codons.

(3) Base sequence of DNA determines the amino acid sequence in proteins.

(4) RNA poiymerase catalyses the production of a copy of the DNA in transcription.

(5) Amino acids are brought to the ribosome surface by m-EMNA during protin symthesis.

Which of the following experimental conditions would reduce transpiration without affecting photosynthesis?
(1) Transferring the plant lo dry soil

(2) Increasing the level of CO, around the plant

{3) Decreasing the relative humidity around the plant

{4) Injecting K* into guard cells

{5} Injecting ABA into guard celis

Which of the following is most likely 10 occur if a plant cell with a soluis potentia] of — 0.3 MPa and a
pressure potential of 02 MPa is placed in pure water?

{1) Water will move out of the cell.

{2y Water will mave into the cell.

(3) Solutes will move out of the celi.

(4) There wili be no net movement of water cither inin or out of the cell.

(5) Water may move into or oul of the cell depending on the direction of the water potential gradient.

The growth of which one of the following is responsible for continusd growih and elongation of leaves of
grass in a lawn, following mowing by machine or grazing by animals?

{1} Apical merisiem

{2) Lateral meristem

{3) lIntercalary menstem

4 Axillary buds

{5) Interfascicular cambium

Question No. 35 is based on the following seciions of the atmosphere,

(a} Troposphere (b} Stratosphere  {c} Mesosphere

Which of the above sections of the atmosphere participaies/pertcipate in the cccumence of acid rain?
() (a} only. (2) (a) and (b} only. {2) (b) only.

(4) {a) and (c) only. (5} (a), (b) and (c).

Which of the following pairs of organisms are most siciilar when bicdiversity sspecis are comsidered?
(1) Pantius nigrofasciarus and Oreochromis massGmbicus

(2) Giant panda and Lingulz

(3) Indian pita and snakehead

(#) Lamona camare and Chirsia chilala

(5) Blue magpie and Heveo brasiliensis

Which of the following combirations is conveci in relation to Lhe nitrogen <ycle?
(1) Thiokacillus - conversion of atmospheric nitrogen 0 nitrates

(2) Pseudomonas — convession of ammonia 0 nitrites

(3) Nitrosomones — conversion of pitriics 1o nitrates

(4) Azotobacter ~ conversion of nitrates to atmospheric nitrogen

{S) Closmidiwm - convession of atmospheric nitrogen to auunonia

www.alpanthiya.l



-

39, Which of the following is invorrect regarding fumgi?
(1} All fungi are saprophytic.
(2} All fungi show sseausl reproduction.
(3} Al fungi contgin glycogen as a storage masesial,
{4} All fungi have cell wails made up of chitn.
(5) All fungi are not terrestyial,

&8, Growth of which of the following groups of organisms is Bed desirable in the production of compost?
(1) Thermophillic bacteria (2) Ammopifying hecicra
(3) Denitrifying bacieria (4) Mitsifying bacteria
{3} Proteclytic bactena

© TFaor ench of the guestions 4k 0o 50 ouz or woore of tee resnomess fefore corvect. Dedde witleh resmomss/
WMMWM@mm{mﬁnmmmm

i oniy &, B and D are comect.. 1
If only &, C and B are correct .. vwennr 2
if only & and B are cOmeECL.....coeriorerivnsene e 3
if only C and T are cofrect .......... e B
if any other response or cnmbimuon of ﬁponsas is cum L]
Dizections suomamcsd 1
i | Z 3 4 [
AR D! ACED A, B c, b Any other response or
cormest. | correct, cofrect. correct. | combination of responses cofreci.

41, Carbohydiztes are commonly stored as starch in plant storage organs. mafmfcﬂuwmgmmesm
slarch melc/makes it @ weful storage material?
(A) I is osmetically inactive. {B) It is easily tanslocated.
(C) it is chemically non-ceactive. () It is insoluble in water.
(F) it is & macromolecule.

42. Which of the following processss in celluler metabolism require/requives energy in the form of ATP?
(A) Glycolysis
{B) Lighi reactions of photosynthesis
{C) Reaciions of Krebs cycie
(D) Darck reactions of photszynthesis
(E) Electron transpori in a2Tobic respiration

#3. Human stomzch
(A) is located in the upper right region of the ebdominal cavity.
(B) comtains endocrine and exoctine fissues.
(0) secretes enzymes that are functiceelly similar to these in saliva.
(D} absorbs » small amount of end products of lipid dipastion.
(E} contsins a flsid which has a pH value of around 4--3.

44, Which of the fallowing isfare correct?
(A} Al temestrial plants have vascular tissues.
(8y All terrestrial plants are heterosporous.
(C) Al torrestrial plants have reproductive organs proiecied by a sterile cell layer.
{D) All temestriel plants except angiosperms do sot show double fertilization in (ke life cycle.
(B} All tertestrial plants produce sseds 23 an adapiation to ervestrisl fife.

48. Which of the following is erz considered as ugw-cgacille defence mechanisrafmechanisms of human body?
(A} Development of antibodies as a result of a natursl microbial infecton
(B) Amibodies transferred from the motker 1o the foetus through placenta
(C} Development of inflammatory response 10 general infections or fissue demage
(D) Praduction of interferon in blocd as a resuli of a viral infection
(E) Development of antibodies as a result of vaocinadon of atisauated microbial cells
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The bectenum which causes letanus in Disn

(A) is an aerobic organism. {B) prothcts &n enperesciin.
() is an obligate anmercbic organism. (D) produces 2 mxutlosio.
(E) is a faculialive amsgrobic ozganism.

Which of the following featwes isfare cowmmon o insects and dplopads?
{(A) Body divided fifo head, thorex and abdomien

(B) Presszoce of cme pair of antennzs

(C) Presence of three pairs of legs in thomr

(D) Absence of iegs in the sbdomen

(B) Preseace of an snoskeleton with chitia and enlcium corooisge

Thich of the following respiratosy structurss ivfare found i vericheales ss wall &5 v lvaricbraiss?

(A) Inleraad gills (®) Bocx lungs
(C) Bedy suriace {D) Eatemal gills
() Trachez

Vhich of the following siaitracnis regarding the movement of ciprniswe is/are comumE?
(A) Pscudopodial movement is found in veriebraes.

(8) Flagellar movement is found in the spores of some (wagi.

{C) Transport of excreiory fluid in some nematodes involves cilizry movemenl.

(D) Ciliary movement is found in fat worras.

(E) Blood is circulated within the hesmacczl of some crusteecang by cilisry movemest.

Question Mo. 53 is based on the following food web of & tsareoial ecosystem.

Which of ihe following sistzwents regarding the sbove fosd web iefore oomect?
(A) Removai of & may result in an incresse of .-

(B) There are thice species brlonglag o the thizd woghic level.

(C) F may be an insectivese.

(D) & is an omaivores.

{E) I reay be cobr.
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